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IIorv ntany ltherses are there in a con-rpiler? Explain eacl-r phase in detail?

What is Bootstrapping? Write a short note on Bootstrapping.

OR
Flx;rlain Language Processing systetn in compiler Design?

IrxpIain InpLrt Br-rl1trir-rg with simple examples?

a I)elhe what is peephole optimization? Write the role ol'peephole optirnization in

conrpilation process.

b lrxplain the applications of DAG.

OR
Write short notcs or-r

i;Sinrplc coclc generator

ii) Itcgistcr allocation

,l ,l i END *1,+
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3 a Construcl the recursive decent parser lor the following grammar?

Ir-> l1r'l'/'l' T-> T'rl"/F I'--> (E)/id

b Ir,xplain atbout Le1l lactoring and Lell Recursion with an example?

OR
I ('onsicler thc granll-nar

S->AI}lAI3acl A->c1 E ->b D->bl e B->c
('onstruct thc predictive parsing table. Show that the giveu grammar is LL(1) or r-rot
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l)cllnc L attribr.ttc ar-rd S attribute? Write the differenccs betweerr L attribute and S [6Ml
attri br-rtc rvith sr-ritable examples.

l:.xplarin the Type Checking with suitable examples? [6Ml
OR

(r a [.ist ancl lJxplairr clil1crent types of intermediate code representations with suitable [12M]
cxat-t-rplcs.

What is Data 1lou, antrlysis? Explain data flow analysis with example. [12M1
OR

lrxplain Storagc allocation strategies with suitable examples? [12M1
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